
 

 

Hoja 1.3                                    Matemáticas 3º ESO                                      © FerMates 
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 1.- Calcula: 

a) 5 · 5-2 · 53           b)   3 34 : 4−         
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2.- Calcula: 
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3.- Calcula: 
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4.- Calcula: 
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5.- Reduce a índice común los siguientes radicales: 

 a)  3 2 343; 3 ; 3   b)    5 103 732 ; 2; 2  
 
6.- Calcula: 

a) 38353432 −+−        

b) 17·5·3      

c) 6:30  

d)  282525423 ++−+  
 
7.- Calcula: 

a) 5·11·2    b)    3:15        

c)   252223 +−      d)  223632 −+−  
 
8.- Simplifica los siguientes radicales: 

 a) 10 53  b)  12 32  c)  10 45  d)   5 103  
   
9.- Calcula:  
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10.-  Calcula:  
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